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Convert the percentages to decimals.

5% 0.3% 35% 3% 2.5%
.00 .35 | _
65% 33.5% .02% 9.53% 14.2%
.65 335 | 0009 | 0453 | \da
Convert the following
15 days to years 32 months to 4 years to months 8 hours to days 3.3 days to hours
years
L2 |m 1. Hya=H% | B . 3 Zxa=
- = = L g 3 === 2%
S 1% A (o = Qo 2.2 19~
14 minutes to 4.6 hours to 64 months to 8 years to months | 41 hours to days
hours minutes years
Y _7 . o= 9o | (4 - 1AL |4l
= =5 206 | Hlo Lo =lo_o .|
\r € \=r

Find the growth or decay rate for each percentage

Growth of 2% - Decay of 14.2% Increasing by 9.2% Decreasing by 0.03%

\ ¥ .09 (R |\t .0a3 { —.0003%

.0 0353 |.092 0.949971
Appreciate by 4.3% Depreciate by 3.43% Grows by .08% Decays by 4.3%

| F.odD - .0%u% | +.000% 1—7043

1.04% 0 A7 \ .000% 0 05




